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Find out which of the following sets form co-prime numbers.

31 X b (9 T I B A1 GHg He-31HST FATU §-1d1 g |

a) (12, 7)

b) (21, 42)
C) (3.9)
d) (43, 129)
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The monthly salaries of P and Q are in the ratio 4 : 3. If P and Q get an increase
of 10% and 5% of their existing salaries respectively, what will be the new ratio?

P 3R Q &I HI{® ddq 4 : 3P 3UId H g1 gl P 3R Q I 34D Hisal dd
o AR 10% 3R 5% Dl i gidl &, dl =1 3=4rd 1 g2

a) 88 : 63
b) 63:88
C) 45 : 60

d) 60 : 45
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In a class of 135 students, the number of boys is twice that of girls. One-
sixth of the boys and one-third of the girls failed in the final examination.
Find the percentage of students who passed the examination.

135 DTHI DI Uh H&T H, dSh| bl I dsidbd] bi ga-T H -l o | 3ifdd
QRI&T | 1/6 ASD 3R 1/3 AS(HAl OB d Ig | AT 30T B ard S|
BT UId=rd JTd B |

a) 75%

b) 71.45%

C) 7778%

d)

81.23%
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The simple interest at 10% p.a. on a deposit for 2 years is Rs. 4,000. If
the interest is compounded on an annual basis, how much more will be
the amount of interest?

10% Yid 99 &l e A 2 94 o e1U fobil STHT M UR ARV TS 4,000 3T
¢l ale gt 3HIUR UR dhdia TS TRIT ST, A1 sATS i AR fbaHl
3ffer gl

a) Rs. 200

b) Rs.240

C) Rs. 220

d) Rs. 190
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10 men and 5 women can do a work in 60 days. If one man can do the
work of two women, how long will 5 men and 20 women take to complete
half of the work?

10 oY 3R 5 AfgdU 60 G-l T U H1H B ddhd 6| dlc Uh Yy al

Afg T3]l BT BIH HR Abdl ©, dl 5 G3N| IR 20 AT Bl YT B1H U]
B I foa-r 9ag e

a) =
b) 36
C) 40

d) 50
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15 persons can complete a work in 60 days. If the number of persons is
increased by 5, how many days earlier will the work get completed?

15 SAfdd 60 f&-1 H U & U1 aR Javd & | Il fadal o G 5 3R
Hfaqdl I gls DI I ©, Al PH fba- fad ggd URT 8l ST

a) 20 days
b) 10 days
c)

15 days

d)

45 days
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TET3M Bl 3faUs! HhH H AR By

Arrange the numbers in descending order:

2411, 43, 315, 512

a) 5V2, 43, 35, 211

b) 3V5, 43, 5V2. 2411
C) 2V11.4V3,3V5 5\2

d) 473, 35, 2V11, 512
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Evaluate: (sin 30°/cos 45°) x (sin 45°/cos 30°)

T N

HAID-T PIOT: (sin 30°/cos 45°) x (sin 45°/cos 30°)

a) |
b) 1/2
C) 172

d) 113
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Find the greatest possible length which can be used to measure exactly the
lengths 5m85cm, 11 m25cm, 6 m75cm?

Jol I do! GHT ddls J1d Do forgeT IugiT 5 { 85 I, 11 HY 25 JH, 6 Hi 75
AT DI dE13d] Bl ATYA H BT Sl Gbhdl 872

a) 40 cm

b) 45 cm
C) 42 cm

d) 47 cm
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The average of nine consecutive odd numbers is 53. The least odd number is

HATTA T fauH Te13ii &7 3d 53 © | J99 |lc! favyq IB I g

d
b)z?
C)35
d) 45

)22
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Find the mode of the following data :

FAaferRad Se1 &1 dgd® J1d DHiford:

85055 ¢

(/’/.-//'/\\‘\Y- /) hli—_@) 100
15 | a)

e ‘// b) 120

1 — | C) 90

lq/a-)/ d) 140
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The length of a rectangular board is 4 times that of its breadth. If the area
of the board is 256 sq. meters, find its length.

& 3

deR dic @]

SD| @ISTs dI 4 71 51 Tfc |l ®l &Ahd 256

g1l Hiex g, dl sUP! ddlg J1d HIforg
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Speed of a boat in stiHALa;i%is 12 Kmph and that of the current is 3 Kmph.
A man rows a bmart/LJpstre:eLm)up to 135 Km and returns downstream to the

starting point. Find\rh&Eeta’l/time taken for the entire journey in hours.

[RR S T U 419 &i 71fd 12 fhHl/er g 9T °4R1 &1 71fd 3 fhdl/der g1 tdh
Hfad YRT & Ulddd 135 fdhHl d@ —1d Iardr g 3R URI & b d URHD
fdg o aruy WW%I@MHI?H&? ISRIDEIENEEEREE IS
IS S

t 24

| p)
?+|5@ C) 36

(,7/> d) 30
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In a shop there are two varieties of rice, the costlier rice is Rs.45/kg and
‘cheaper rice is Rs.30/kg. In what ratio should they be mixed so that on selling
the mixture at Rs.56 there is a profit of 40%?
Uh b1 H drad B! al fbe g, He'l drad 45 9 fdbal 3R T 91dd 30 30
Thdl g1 3= by 3rura # f&cmar SHm arfge difd g &1 56 398§ g9 |R
40% T ATH GI?
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In the world cup, Sachin has a batting average of 70 runs in 8 matches till the
'semi-finals. How much should Sachin score in the 9th match i.e. the final match
to get a batting average of 807

[dy U o, Gl &1 HHumaw d% 8 Hdl H gcidroil 3{id 70 A o ifaq Hd
qDH decidoll 3 09 H Il &I fdd=1 3 99H1 difigu?

To 160
o 140

0
7{)—'-, 150
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Puneet goes to his office at the speed of 60 km/hour and returns to his home at
the speed of 90 km/hr. What will be the average speed of Puneet for the whole
journey?

g-id 60 foblt / € B T1fd I U= ST SIIdl § 311R 90 [l / g1 Dl 71fd & 319+
R diedl & | ORI A & [o7U g-Ia &1 ofid T1id o1 giil?

S
(T AA > (

=" < S -+ a) 20 km/hr
2

b) 25 km/hr

d) 30 km/hr

;
@




